n o
N 5}
&S )
[ToRe= ~
o3
S -
z +=e [s S
2 N =
2 {0 -
4} x
g o £ o
g 2
& e [To) 8
8 ! 2 =
= o £ —
£ -1= 3 |
2 0 2
[ o
A A S o
g 0 £ IN
& S b= )
E T
] 3
4 ) 3 3 ]
5 2 3 3 3 5 E 3 3 3
=l syoen ayeondnp H L ssioen ereondnp oney
n o
N 15}
ISESA
g o
0 5 I3V
— O
3
=)
— M =]
Lo
o o
[fe]
! o
> |
'
10
— o
| IN
1<) )
N
0 o
. el i
S S
syoeu axey N
n o
NE I}
: B )
= I3V
[}
. 03
3
— o —
> - — © N o
B = |8 =
@ - Lo 2
9 L
gl © g °
= 0 =
= ) ! m o
4 —
o 3
< - — s |
S | 3
8 Lo 2
= - = = o
3 | 3 IN
2 I % |
gl f-- g
2 ! s .
74 [ PP PP Lo, o 9 2 I
g - Dy N o
< ] 5 ]
o — [=} o
z z

syoes ang

syoesy angy

track dxy (cm)

30

20

-20 -10 O 10

0

N of reco track vs dxy

<
o
-

syoen

05 =50-15-10 -5 0 5 10 15 20 25

N of reco track vs dz

L
o
—

N
o
—

syoen

5
=3

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


